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Direction (Q. Nos. 1 to 10) : Read the
following two passages and answer the
questions thet follow each passage. Your
 answer to these queshons should be
based on the passages on!y

Passage -1

| was sitting nextto Missy in my ninth-grade
world hlstory class when Mrs. Bartlett

announced a new pro;eot In groups we -
were to create a newspaper around the

culture we were studying.

Ona piece of paper, we wrote the names .
of t_hree-frtends we wanted in _our group.

After collecting all the requests, Mrs. B
informed us that she would take into

consideration the names we chose and

would let us know the results the next day.

thad no doubt | would get the groupofmy
choice. There were only a handfut of

sociably decent people in the ciass and
Mlssy was one of them. | knew we had
chosen each other

o The next day{ I anxiously awaited the class.
 After the bell rang, Missy and | stopped
talking as Mrs. B called for our attention.
She started to call out names. When she
reached group three, Missy’s name was
called. Solmlngroupthree Ithought The
second third and fourth members of the
group were called. My name was not
included. There had to be some mistake !

KB —2A/26

Then | heard it. The last group : “Mauro,

Juliette, Rachel, Karina.” | could feel the |

| _ tears wellin my eyes. How could that went

down to her ankie's and the othergirl'who

wore weird clothes. Oh, howbadlylwanted

tobe with my friends.

| fought back tears as | walked up to
Mrs. B. She looked at me and knew
what | was there for. | was 'deterrhined to
convince her | should be in the “good”
group. “Why... ’?”Istarted

She gently placed a hand on my shoulder
“ know what you want, Karlna she said,

“but your group needs you. | need you to

‘ help them get a passing grade on this

assignment. Only you can help' them.”

| was stunned. | was hombled.rl was
amazed. She‘had seen something in me
|hadn'tseen. - S

"Wil[ you help them 7" she asked.

- Istood straighter. “Yes,” | replied. | could’t

believe it came out of my mouth, but it did.
Ihad committed. -
1. The new project was for
(A) Launchmg amagazine
. (‘B') Creating a newspaper for,
o culture _ | 3
. (C) Announoinganewouitur_e‘

(D) Creatinganewspaperforfun s

- Gontd.




‘2. Missy was included in the groupof :

(A 'Mauro

(B)_'_ Karina B

| (C) _Jullette .
(D). .Noneofthem

3. Karina dld hot llke her group

because

» 'Thegrrlcouldno’tspeakEnglish'

(B) The boywasshabbilydressed" "
(©). She wanted to ]OII'I Mrssys.

| group

' mmlsklrt

A -
' .

_ .4: | Theteacher Mrs BputKanna lnthat

partrcular group because Karlna

- (A)" .Started crylng

“ (B)  Wanted to be in anothergroup -

- (C) Was confused

- (D), Could help the students inher

- group
5. Karinawas stunned because : -

A She was hurt

B Herteacher had identlt“ ed her

_ teadershlp potentra!

_' (C) She could notJorn the group of .
S the top of the steps My motherwas already

. her chorce

: '3(D)- She got a passing grade :

KB - 2M126

(D) 'IThe othet’ grrl used to wear_ '-twed ordled

Passage - ll

One miserable rainy nrght a man: named

Mark de01ded to end his Elfe in his mld-_
fifties, Mark had never been married had

never experrenced the }oy of havmg

~ children or spending holidays with his. |
family. B'"oth'his parents had been dead for

seyen years He had a srster but had lost -

- contact wrth her He held a menial ]Ob that

left him unfulfrlle_d.,_ Wet and unhappy, he

- walked the streets ”feeling as if there was

nobody in the entire world thatcaredifhe

@

On that same soggy nrght | was sitting in

rny room watching the raln hlt my window. | -

was snt years old; and my life revolved

around. my- Star Wars action ftgure
colleotlon. I-was dreamlng__of the day when

d have earned enough' rﬁdhey to add

Darth Vader to my new coilector s case. -

' To help me make money, my father pald"'
| me to jog wrth hlm Everyday, at seyen
, oclock we Jogged together _ |
_ And everyday, I was flﬂy cents closer to
. -gettlng Darth Vader _
" When | heard the doorbe[l rrng, I jumped

from my chair and raced out of my room to

’at the door

-~ (Turn over)




Opening t, she found herself face-to-face

with a very disheveled-looking man with -

~ tears streaming down his face. My mother,
overcome by pity, invited the man inside,
~ and he sat with my parents in our living
room. |

Curious, I snuck downsta|rs S0 that | could

geta better Iqok. | couldn’t understand what
they were saying, but the sight of the

- rumpled -man; holding his head in his
hands and crying, made r_ny.ch'.est ache. |

| , raced back upsteirs_ to my room and s{uck :

my hand'into my money jar. F'ul_!ing out the
Kennedy half-dollar | had eamed thatday, |
ran back downstairs. o |
~ When I reached the doorof the Iivir.lgl r;oom,‘
I walked right in. The th ree adults looked
atmein surprise as I,quici(ly' made myWey

~ overtothe stranger. | putfhe half-dollarin

| his hand and..tolci him that | wanted himto
have it. Then | gave him a hug and turned
~andranas fastas| could out of the room

and back up the stairs. | felt embarrassed.

-~ but happy

: Downstarrs Mark sat qu:etly with his head

bowed. Tears streamed down his faceas

'he tightly clutched that ¢ain. Finally looking

'up at my parents, he said, “it's just that I -

thought nobody cared. For the last twenty
years, | have been so alone. That was the

KB - 2A/26

- .somebody cares.

first hug | have gotten in — | don’t khow .
h'ow.'rv long. It's hard to be!i.ev_e_,t_hat‘ '
6. . Markwanted toend hls I|fe because
(A} Hefeltextremely dejected
~ (B)’ His parents had died
(C) Hehadonly one 3|ster

(D) He was Jobless

7. - Thatlittle boy was fond of :
(A)  Watching rain :
(B) Darth Vaderfigure ;- -
~ (C) Money e
. (D) Jogging ... -

8 Thevisitorwasa:

(A) Famiyfriend "
8) Robber

- (©) Needyperson o
(D) Nelghbour -

9. Thelittle boy gave the VIS]tO!‘ hIS
A Money
(B) Food
© Tos o
(D) | StarWaractaon f gure

10. Why did Mark cry ?

(A) He was ih ‘phys_fcel pain

(B) He had noteaten for days

(C) ‘Hewas upr'narried |
(D) He was greeted wﬂh Iove and
- care '

. Contd.
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REDRRT)

A Ieader has the ablllty to influence

. others threugh qualities such as
~ personal _ — expertlse,-
 command of 'I"ang'uage,'and the
creation of 'mulﬁal respec't-—"é‘ll of .
. which require strong mterpersonai
skills.
~(A) aura
'(8) charisma
~ (C) elan o
(D) mé,chi,smo'
Interpersonal skills include the -
ability to _________ and manage
the eniotioris motivations, and_.
_ behavuours of oneself and other
during somat mteractlons or ina
soc:tal-mteractwe context
(A fesl
‘®) read
~ (C) suss
(D) view
Those who have intgrpersonal skills
“are able to manage their behaviour
o dunng social mteractlons and align
theéir goals to the goals of others-
_d_uring_ . _ activities.
(A) cohesive
(B) collaborative
- (C) f:ollqcatio_nal
(D) concessive

. KB=2A/26

14

- ®
- (C)

185,

- totheforcesthat. .

- (A)

They are able to empathize aitc_i are

sensitive to the needs of others and
the way
that othefs feel and behave. -

(A) "bend

mar

mend

(D) |
Modern ‘teamwork often b’tings
together individuals from diverse

shape

“ groups who may notshare common

norms, values, or but
who do -offer unique expertlse

ms:ghts, and perspectlves.
accommod_atidﬁs '
(B) cubicles
(C) salaries -

vocabularies

E-mail, voice mail, audio conferen-

.cing and video conferenbing, and the

myriad other technologies that
enable individuals to commuhica_te

- with each other not only increase the

(5)

.('D)_

ways in which individuals caninteract

‘but also require a heightened

sensitivity to the _;_;__;____._ of

_interpersonal interactions.

(A)
(B) - naivete -

innuendos

(C) nuances

repartee

* (Turnover)’




17 Thls ldea is partlcularly true in the |

18.

@

. 19

_expressions, or body _

(A
- (®)

©

worlds of virtual learning and Vtrtual
comr’numcatlon, where one cannot
yet use hand geStufes,- _ facial
s to
fully express ideas.

.Iangu.age,

movement

(C) poses |
positions_ |

The challenge'is to

inter- . .

20.

21.

personalsklllsnotonlymface-to-faoe -

lnteractlons butin wrtua[ mteractlons

"as well.

e (A)

peifect
(B)
(C)

pérform \
prodtice: |

project

As thé police saw the 'aCt:ident"

themselves the drlver avonded the

. detat!ed report

(C)

(A) need
requirement.

‘indictment

. (D) necessity

KB - 2A/26

of havmg to gwe a

It's a complete waste of time

*_over who was to blame, -

the main thing we have to do is
‘decide what to do next.

Ay

arguing
(B) discussing
(©)
©)

repeating \
considering

It was easy to realise wh’y”th'e..

- machme had stopped working since

it was a darect of his

" failureto maintain it.

4

 (©)
(D)

@)
®)
- ©

Complement
‘Concern
Consequence

()

Conviction

22,1 am'lcom_p_!etely confused asto why

' she did it andsoit's n‘oi

to lmaglne why other people are . |

mystified, too
(A deﬁmte '
(B) difficult’

_debétable

decided

Contd.




- 28.

Ihave great

for them at

' ﬂ"IIS llme because I have hada snmilar

experlence

(A) smc,erlty .

(B) sympathy

() SOfOW

- (D) _ sadness

24,

25,

“(C)

Many of the people in the crowd

were visibly crying because they all

with those who had lost

 rélatives in the disaster.

A

“resented
(B) regretted
rejoined .

(D) “sympathized

Atailor had a nm’ﬁber:of shirt pieces

to cut from aroll of fabric. He cuteach.

. . rollof equél length ii‘ito 10 pieces. He

cut at the rate of 45 cuts a minute.

' '. Hdw-'many rolls would be cut in 24

minutes ?

(A 32rolls

(B) S54rolls

" (C) 108rolls

. KB.=2A/26

(D) 120rolls

A7)

.26

o
o
27.

Today is Varun’s blrthday One year -
after, from today he will be twice as

' old as hewas 12 years ago. How old
" isVarun today 7.

, (A)_ __

20 years )
(B) 22 years‘,

25years .
27 years |

Ayush was born two years after his )
father's marriage. His mother is five
f,rears’young'ér than his father but20
years older than Ayush who is 10
years old Atwhat age ( d;d the father

! get marrled ?.

® 23years

| (B) 25years

28,

(©) 33years
(D) 35years

‘In "thr'ee coloured boxes — Red,

Green and Blue, 108 balls are

' placed. There are twice as many

balls in the green and red boxes

“combined as there are in the blue box

and twice as many in the blue box as
there are in the red box. How many

" balls are there in the green box ?

(B

18
36
45
None of these |

A)

©)
)

(Turh _over‘) '




"~ 29. Ravi’s brother is'3 years senior to

 him. His father was 28 years of age

" when his sis'tér was born while his

30.

mother was 26 years of age when he

was born. If his sister was 4 years of

~ were the ages of Ravi’s father and

mother respectively when his brother

was born ?

'_ (A) 32 Years 23 years

(B) 32 years, 29 years |
(C) 35years,29 ye_a[s A

D) 35 years, 33 years

ina class of 60 students, the number

of boys and girls participating inthe

g agé_'when his brother was born, what

32,

~annual sports is in the ratio 3 : 2

respectwely The number of girlsnot ,

; pamcrpatmg inthe sports is 5 more .

than the number of boys not

33,

parhmpatmg in ,the sports. If the

number of boys participating in the -

. sportsis 15, then how many girls are -

()

KB 2A/26

thereintheclass ?

(A) 20

(B 25

(C) 30.

Data lnadequate

31.

If you write do'wn'all the numbers -,

~ from 1 to 100, then hbw: many times -

do you write 3 ?

A 1

ADVENTURE-
' DVENTUR, 2, VENTU.

| (B) 18

(C) 20 -

(D)'21-”

"Choose the mlssmg term out of the .

K3

gwen alternatwes

(A) VENTURE ~
(B) VENTUR

(C) DVENT

(D) DVENTU

. 'HO-W many péifs of Ie't'te-r-s':in tﬁe word |
‘CHAIRS' have as m_ény letters

_ b_étwe'en' them in the wé’rd as.in'thé _' -

| alphabet ?

(A) 2 . j..

B 3

- (8)

© 1
(D) 4

Contd.
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Choose the mlssmg term out of the

'gwen alternatlves

ejo, tyd, ins, xch ?
(A) mrw
nw
(C) nsx
(D) nsw

in'tho following qués'tio_n, various

-terms of an alphanumerical series =

" are given with one or more terms

 missing term out of the gwen

'mlssmg as:shown by (?). Choose the

o alterriatlves

. (B)
(©)

36. "

(B) .
. (©)
(D)

- KB-

.

. terms of an alphanumerical series

| 3F,6G, 111, 18L, ?
27Q
27P
25N
210

'(A) '-

(D)

In the following .qUé_stioh, various

~are gwen with one or more terms
'mlssmg as shown by (’?) Choose the
“"missing term ‘out of the given

: alternatwes

“BMO, Eoo HQS, ? -
KSU
sov
sow
LMN

(A)

2A/26 -
Sy

1

37.

G

G
38.

39.

: (D

(9)__'.

In the following question, various
terms of an alphanumerical series
are given with one or more terms
missing as shoWn by (?). Choose the

__m:ssmg term out of the gwen
. aiternatwes |

P3C, R5F, T8, V12L, ?
X17M "
X160
X170
Y170

®)
©

What will be the next term in the ‘
followmg series ? ' |

BKS, DJT, FIU, HHY, _'
®

X
16X
JGW
JGU

®
(C)
(D)

In the’ followmg questlon varlous
| terms of an alphabet series are gwen
\wath one or more terms missing as
“shown by (?). Choose the missing

term out of the given. alternatwes
ABNCDOEFP???

(&) GH,Q
(B JKL
G,'H,J
GH,I

)
)
).
)

'(Turnover)' _
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Dfrect:on (Q Nos 40 to 44)
fot!owmg line graph gives the ratro of the o
amounts of ;mpon‘s by a compan y to the

" amount of exports from that company

over, the penod from 1 995 to 2001

Ratio of Vatue of _Im_ports to Exports by a

- Company Overthe'Years: . 42
18 SRR, W1
~F .5
1.4 - £— VA
13 1.25 /'\\ //
12 — f/ N/
P / A S
o 085 ¥
0” . i I - ML
o766 27 N "7
o 4 S—7
05 AN
04 \"f '
. 03 - —085 '
0.2 - - -
0.1 t 43.

1995 1996 199? 1998 1999 2000 2001
Years .

The 41_-'

)

The

|mport3 were mlnlmum .
proportlonate to the exports of the

| company inthe year

(A) 1995

(B) 1996
T (© 1997
(D). 2000

. What was the percentage increase

in imports from 1997 to 1998 ?

: » 72 |
(B) 56

(C) 28

‘Datainadequate

fthe imports of the company n 1996

',was Rs 272 crores, the exports from -

the company in 1996 was ;

40.

If the lmports in 1998 was Rs 250

crores and the totat exports in the

- years. 1998 and 1999 together was .

‘Rs: 500 crores, then the imports in

(A

(B)

L ©

©)

Rs. _370-orores :

Rs. 32_0 crores

Rs. 280 crores

1999was: - R

(Aj " Rs. 260 crores
(B Rs300 cr‘ore__s" “_
©) ﬁs. 35? crores
©

‘ RS.__420 crores
" KB—2A/26

Rs 275 crores

_ Inhow many of the given years were

the exports more than the imports ?
w1

® 2

(C) 3

(D) 4

Contd.
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birebtion (Q. Nos. 45 fo 48) : A School has four Sections — A, B,_C, D of Class IX .
students. The results of half yearly and annuel examinations are shoWn_ in the table

‘examination be considered a

criteria for comparison of difficulty

ie\{el' of two examinatidns, which of

the following statements is true in

- this context ?

(D)

given below.
Result .No. of students
Section-A |Section - B |Section - C | Section - D
Students failed in - | | |
both the Exams. 28 23 17 27
Students failed in
Half-yearly but
~ passed in Annual |
Exams. 14 12 8 © 13
‘Students passed in |
Haif-yearly but failed |
in Annual Exams. 6 _17‘ 9 15
1 ‘Students passed in
both the Exams. 64 55 46 76
45, |fthe number of students paséing an (C) Both the examinations had

; almost the same diﬂictilty level.

The two examinations cannot

be compared fordifficulty level.

46.. How many'students are there in

Class IX in the school ? .

(A) Half yearly examinations were (A) 336
" more difficult, | ®) 189
(B) Annual examinations were (C) 335
more difficult. (D) 430

KB — 2A/26 | (11) ' (Turnover) '
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47. Which Section has the maximum

48.

49,

B

pass percentage in at least one of

the two examinatio‘ns ?

“(A) ASection

(B) B Section

- (C) C Section

(D) D Section.. -

Which sec;tiOn has the maximum

success rate in annual exami-

nation ?

(A) A Section

(B) B Section
(C) C Section -

(D) D Section

Find out the two signs to be

“interchanged for making following

equation correct ;
5+3x8-12+4=3
+ and_'—_ \

(B)
(OF
(D)

—andA
+and X

+and;i-

KB —-2A/26

'50. " Find outthe wrong term in the series :

52.

®)

(12)-' o

- 51,

®)
- ®

2;5,10,50,500,5000

(A) 5000

(B) 500

(©) 10

(D) 50

'Find the missing number in the

‘series :

1,2, 3,10, ?, 9802 |
99 |
199
(C) 299
(D) 999. |

Find the wrong number in the

series :

3,8, 15, 24, 34, 48, 63
A 15 |
24
) 34

(D) 48

 Contd.
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53 Choose the mrssmg terms out ofihe "__"

grven alternatwes

. (A) N 5 |
Cene

b4

S -(C) BUT

YZSWOTKQez e
| S '-"'_(D) UTI

| 56,

'arB) ur

In the followmg questlon a

L serresrsgwen mwhrohs'_'” letters -

S gwen in the proper sequence

In the followmg questron vanous

] terms of an alphanumencal senes[

- mrssmg aeshown by(?) Choosethe
mrssmg term out of the gwen-'_' _.'('A)'I

Tl 'a!ternatrves

A .___9225 7Y7 14x9 23w11 34v13 ? © "

@ 47u15
. (B)- -47\114 =
(@ 485

_.-:.':(D) 27u24

a given alternatuves
B I-".-;‘.-_-'-_‘ATTR!BUTION
o RIBUTIO, BuTl
'"-.ffun

https //www freshersnow com/prevrous-Year_z_;.._.__ e

(D)

LY _gwen altematwes

o 5‘{;"'Choose the mrssmg term out ofthe_“ L

EUA : _ | DHL, PTX-'BF J‘.‘_?"

.__.Choose the mISSrng term out of the-_:_: e el :
TTRIBUT!O . (B)
e
KA (o)

‘of the alternatwes ChOOS

R __"._.correct a!ternaiwe S
-are gwen wrth one or more terms. R L L

-are mrssrng The mrssmg Ietters e O L

2 ba_ba_bacacb_cba

.

ceba o
chac - .
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- terms of an alphabet series are given

~* with one or more terms missing as

o shown by (?)..Choose the missing

o ._te'rm out of the given alternatives :

. i
. (B) SH

 AZ,GT,MN,?,YB

“The two trains are running in same
- direction at 90 km/hr and 60 km/hr-

~ respectively. The faster train crossed

- : . a*péésér_lger sitting |n t_he slowertrain

E in 27 seconds. The length of faster

Y fraine

(A) 220meters

S (B) 200meters

60.

L (C)._ 157 meters
(D) 225meters

' Aman can row a boat at 4.5 km/hrin

- sill water to a certain 'upstrearﬁ point

. and can row back to the starting point

" In the following question,; various .

(B) 4kmihr

(). 34kmhr

. @ 3kmfr

61.

There is a leak in t'hlé bottom of atank.

| Before the ]e_'ék, it 'c.c.njld be filled in

four and half hours. After leak it takes

~ halfan hour longer. If the tank is full,

* 'the leakage willempty the tankin : -

A 45 ho_ﬁ}s

62. A;BandC enter into a partnership.

in a river flowing with 1.5 krivhr. The

average speed during the total

'jbu'mey‘is ;
(A . 2.4km/hr

. KB-2A26

(14)

= (B) 25 hours

- (©) 28hours

(D) 8hours

R P

A invests 3 times as much as B
invests and B invests two-third of -

 what Cinvests. Atthe end of the year

the profit eamed is Rs. 6,600. The

shareof Bis: -

(A) Rs.2,100

() ‘Rs.1,200

(C) Rs. 1,500

(D) Rs.3,160

C_ontd. :
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63 Simple mterestonacertam amount .
is 9/16 of the pnnclpai amount Ifthe -
number representing the rate of '

. mterest in percent and time in years

~ be equal, then time for which the -

pnncipal amount is lent outis:
(A) 15 years )

(B) 7years ':'_;'

(©) 152years -

(D) 15/4 years

65,
o -among the five persons P, Q, R, S
. and T facing Nergh ? |

_- Statefnenu; | . | .

. () Risthirdtothe left on and Ps -

- statements are sufftc;ent to solve the -

- problem Select the conect one. out ofthe

four given a;‘tematrves —A, B, CandD-

that is needed to answer the questron

: '64 What is the monthly salary of Alok ?*

'_ KB-2A26 ©

1

- Statements. o
| () Alok gets 15% more than ‘Sumit

while Sumit gets 10% less than -

Raman.

(hRaman’s> monthly salary is -

Rs. 2,500. -

(A) The da’ta:ih"fi) alon'-é-are_;._-_-
sufflclent‘vto‘- answer the,._,-__-

question"

(8) The data.in -(I.t)'-alone ars -

. (C) Thedataeitherin (1) or (I1) elone

are sufficient to answer the

question

N (Dj -The data in both (Iy and (1) |

Directmn Q. Nos. 64 & 65) Each
question given below has a problem and -
~ two statements numbered 0] and () giving
. certain information. You have to decide
whether the data prowded in the .. ...

‘together are _suff,rment to -

answer the question

Who is the immediate right of P

second tothe right of R.

() Qistothe immediate left of T who ‘

.ie second to the right of P.
(A) The data in (1) alone are
~ sufficient while the data in (Il)

aloﬁ-e'are not sufficient to

answer the question

"(B) The data in (II) alone are

- sufficient whlle the data in (1)

' alone are not suffucnent to
“answer the question

(C) The data eitherin (1) or (Il are "

- sufficient to answer the

_question:

" (D) Thedatain both (fyand (ifyare

suff:ment to answer the. :

questlon - S

sy

sufficient to answer the

. question

(Tumover)
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Dlrect.'on (Q Nos 66& 6?) Study the _
foﬂow:ng line - graph that shows a
o Human Resouroe !nd:ces of an-

"orgamsar.'on for the g:ven years and'

' ,answerthe quest:ons
- jeser

. [200F—

. [150

. |100}-

| 50

| o5

{10t
I s

2003 2004 2005 2006 2007 2008 2009

86, The lndex in 2008 was what percent

E of that in 2006 ‘?

B 1_00

: ® '1|5 0 |

e

(o)_":" 50 .

67, "__Wh';atvis the approximate va[ue of the
_ ayérégeindéX?' | o
(A) 130 .

I:.(Bj 150
R

©) 140

KB 2AI26

'

"',_Direction (Q. No. 68 & 6‘9) The_,
foﬂowmg hne graph dfsplays Annua;‘ -
."-D.fwdends offered by two compames )
M aﬂd, N over. dffferent years. Study." |

- the graph carefully and.answer the

questions..

—4—Company M —a—Company N
AN

20 . S N\ .
15 | A< N -

25

&

. 2008 2009 2010 2011 2012 2013 2014 2015 2@16

68 Swata mvested Rs 35 000 in

. ] L
. company N i in 2011 After one year

shetransferred the entire‘ amountwith o

‘ fdwldend to company M in 2012 for

‘one year What amount: will” be

recewed back by Swat mciu.dlng '

'-dwudend?
(A) Rs.49,000 .

' .(3}' Rs. 49,980

~ {0) Rs.48300

(D) Rs.49563

. .Contd.
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69. In the year 2014, Sura invested

- .Rs 56 000 moompanyN Howmuch--'. "

‘[eceived ‘has the 'amo_unt'-bee,-_.

" '_i_n-v'ested‘in_'f::Qmpgﬁy M ? |
“(A_) | Rsﬁf1,640_m¢,~§-.j—-— o
-_ _(l'_B)' Rs. 1640 ;éé_sf'"

© Fetgomoe

(D Rs. 1',630.‘Ie'ss'- -

o D.'agram reﬂects expon‘s of fea and.‘

B dfagram and answer fhe questrons

200

13,474__159_1'2;’.&_. 1 H :
excesswe hours of Iabour In the earliest

2010 2011 02 2013 . 2044
Teall [JCoffes -

R S BT . 147;33 ;e 3 _
100 |- I B I - J o IR

KB-2A26 - O .'('1'.7.':‘)'. |

' '70. What was the percentage increass in

o

e .'._ * the.export of tea in 2014 ftom that in

Caotor s
. more orless dnndend would he have SR - -

(A) 90_'?-_ -
(B) 40'
(C) 20

(D) 35:_' |

| _:.Direct:on (Q Nos 71 to 75) Read the
- ,fo;‘!owmg passage and answer the g:ven . |

: _. _._:_"questfons R | |
e s _::'-_,_'_"-.There are two anment evils that science,
.Direcﬂon (Q No. 70) ThefoﬂowmgBar. ’ ':.E_..unWISely used may ,ntenSIfy ihey are
."_"'_'-_I_tyranny and war. But Iam concerned now‘
o coffee (m t on nes) for fh o ye ars 2010 ' __-'-_-'-"__ratherwuh p[easant posmbllltlesthanwnh .;

| "'-'u‘}ﬁp!easant ones
201'1 2012 2013 and 2014 Refer the_ o

' Science can confer two kinds of

- benefits : it can diminish bad things and it

."'s.m' S : ) ',:51_5'-.: canmcreasegoodthmgs Letusbeglnwith
]800 fr—— — —H _
Y 1 B -thgformer ) |
0 | m Rl Smence can abollsh poverty and o

human communlt[es before agnoulture |

' :'feach human |nd|v|dual requured two or

| (Turn ovér)_.
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more square miles to sustain life.
Subsistence was precarious and death

from starvation must have been frequent.

_ At that stage, men had the same-mixture

of misery and cafefree'_énjoymént as still
‘makes up the lives of others animals.

Agriculture was a technical advance

ofthe same kind of importance as attaches

to modern .méchine induslry. Tﬁe way that

5

 agriculture was used is an awful warning

16 our age. It introduced slavery and

. serfdom, human 's'acrifi'ce, absolute,

monarchy and large wars. Instead. of . |

raising the standard of lfe, exceptforatiny

- gove‘mingminority,'it merely increased the

‘population. On the whole, it‘proba'b.ly

increased the sum of human misery. Itis

not possib]é't'h'at in_c_iustriéiigm may take the

~ samecoufse.

*71. Which of the following is NOT the

main focus of the article ? .

-(AY Tyrannyandwar

(B) Pleasant possibilities Qf

science

KB —2A/26

oy Contd.

(C) The, ability of science to
~ diminishbad things

/
increase good things

(D). The ability of ‘science to

72. According to the article human

- beings can lessen the quantum of -

labour if théy went back to: |
A Pre-agriculture.days
(B) If they adopt agricultural

gconomy

(C)' Use the benefits of science

wisely

" (D) Noneofthe above -

73, Whicp of the following statementsis

true?

(A) The condition of human beings

' has beén're'duced tothe status

of animals during the modern

- age of machiné industry
- (®) .- Industrialism introduc_;esslaﬂ;‘gry
| (C)._ ‘AgriCplturé wa‘s._’a technical
édvande_ﬁ'sent upon iﬁd_u‘stﬁaiism

- (D) None ofthe above

!
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74. Agrarian economy increased the-.

" sum of human misery because :

"(A) You have to indulge in the

prabtice of human sacrificeto -

_ increase the oulpl'_xt' '

(B) itwasnot used wisely

“('C)_."'_It resulted in population . _
' : quesnons grven below.

“explosion

_ _(D) None of the above

75. " Which of the following is NOT -

~mentioned in the airt_iele ?

(A) Human beings enjoyed the

same klnd of pleasures and '-

suffered the same kind of
| misery like the animals during

‘pre-agrarian economy

of the life for'sofﬁe 'human' |

beings

(9] Ag_rarian econemy is more

- scientifically advanced than

pre-agrarian economy

KB -2A26

- (B)  Agriculture raised the standard-

. (D) Industrialism will lessen human
misery because it is
accompanied by democratic

form of government

 Direction (@ Nos. 76 to 80) : Read the

foﬂowmg passage and answer the_ |

- | Harnes_s_ing the immune system to fight o
. c_en'éef, long a medical dream, is
~ becoming a reality. Remarkable stories of

- tumours melting away and terminalfillness

gosng mto remlssmns that Iast years —.
backed by solid data — have Ied foan
exp]oSaon of mterest and balhqns of dotlars

of investments in the rapi_d_]y gtowing field

 of immu"'net_herapy. Pharmaceutical

_firms,.'philanthropists'a_nd the U. 8.

government's “cancer ‘moonshot”

- program -are pouring money into

de'{.leleping' .treatments. .M'e'dtlclall

" “*conferences on the topics are packed.

(Turn oﬁer-) '
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Hundreds of clinical trials inv'ohr'ing’f-
_|mmunotherapy, alone or ccmbmed with.
othertreatments are underway for neariy_'-"

" everytype of cancer. : S

cells, tissues and biochemicals they

cancer ofte finds Ways to hide from the
immune systern orblocks ifs abili'tytofg‘ht.'_'._". | =
lmmunotherapy irres to help the |mmune.'- | -"_'diseaSe- becadee " d;’jes o
_system to recognrze cancer asa1hreat§.l_".f-_._:__l_ B o LA . :

and attack_‘ rt. A wi__dely_ _used type -of

mechamsm-—-—cal[ed acheckpornt—that o
. cancer uses to shut down the rmmune.--
system. These drugs called checkpomt: S
| mhlbltors, havel, been approved-by__tlhe.-.'_ i
Food and Drug Adrninistratio_n to"t're'at' | o
) advanced melanoma, Hcdgkin'lymphc'r'r'ra

_ and cancers of the Iung, krdney and' U
bladder More drugs lnthls class are in the: )
| _ plpelrne Patients are clamourlng for-

'checkpornt_drugs, |nclud_rng one; _Keytruda,_'-_: N

known to 'r'nany as "thatJirn'rny‘Cartordrdg”. o
' whlch combmed wrth surgery and
radiatton has IeftthefonnerPresrdentmth S

| T | '-_jno srgn of recurrence even though R
. The immune system —a network of -~ .
: I _-melanoma had spread to hrs Iwer and -_
o ' o I-bra_rn.
secrete — defends the body against =

viruses, bacteria and other invaders. But 78. Which ofthe following statementsls: . -

Cotue?

- spare ‘even a very. powerful

.States

B _"Thereisimprc'Vementincancer

._._'dollars are bemg poured mtc

o res_earch

) K me!an'cma'spreads_'to liver

and ‘brain, there will be no -

 recurrence of cancer

- (D) - None ofthe above

20y L. Contd:
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“(A) Cancer is a very dangerous

| ) BRI ~“person like Jimmy Carter, the .
immunotherapy involves drugs'th’at free, g - A

S R former Presrdentofthe Unrted'
,immunecellstofghtcancerbyblockmga-.__-_ e _

"_ '_.f.treatment because bllhons of -
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77.. Checkpointdrugs have becomevery -~ 79 ‘Jmmunotherapv |
'Popularbecause '(A) Marks the end of human o

K - dependence on drugs durin
(A) They nuillfy cancersattemptto . _ P g g
_ E S _.cancertreatment
’sh‘utdown the immune system o
: - (B) Augments the abullty of human

]

~(B) You do not have to suf_feg?_the'-"‘ R 'lmmunesystemtofghtcancer
- pain of surgery and radi_atio_n .o " - "cells '
durmgtreatment - o _' (©) _"'Creates checkpomts against
" . cancercells

S Food and Drug Admm;strahon‘_ 3 o ane .
o Ihas approved 1ts use - .'(D)_ : N.one of the abbve
'(b) None °“he above - 80. ‘Cancer moonshot program :

e A Isaphllanthroplc initiative- by
- 78, Keytruda is: :

S I'USgovernment _ _
| """"'(A) 'A partioular type of disease -+ (B) Is ‘sponsored by pharma-
. -'--w:th which Jlmmy Carter was I -ceutlcal firms to hold medical
.' -suffenngfrom- . | BIPR boﬁferé_'nces on ‘imr‘nuno-\ :

- "therapy

. .(B) Thenameofadrugthatisused . =
ST - . - (C) Channelizes resources into.

« . totreatcancerpatients - : - : A
o ° ane p . i o e researchonthede‘velopmentof
(C) Another version of Hodgkin ~~ cancer treatment through /
" “lymphoma . R 1mmunotherapy
" (D)~ None of the above . ) 'Noneofth‘??bove._.;v |

kA

! - ’ r
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